SplashLearn

Identify the Operation

Circle the correct expression for each story situation.

O

Drake bought 5 toys from a shop. His father gifted him 2 more toys. Which expression shows the total
number of toys Drake has now?

5 + 2 [5x2 |

2
Q Tim has 4 pack of crayons. His friend gifted him 4 more packs of crayons. Which expression shows the
total number of crayon packs Tim has now?

A

3
C Emma has 5 candies. Her brother gifted her 2 more candies on her birthday. Which expression shows
the total number of candies Emma has now?

5 + 2 (5% 2 |

o
) Jake bought 2 balloons. His brother gave him 5 more balloons. Which expression shows the number of
balloons Jake has now?

(2x5 | [2+5

O

Sandra has 6 baskets of kiwis. Her friend gave her 8 baskets of kiwis. Which expression shows the
number of baskets of Kiwis Sandra has now?

(6x8 | 6+8




